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TNPSC CCSE GROUP IV - GENERAL STUDIES 

  

101. Pick out the correct reasons: 

Oil mixed with petrol for two wheelers due to the following reason(s): 

1) It lubricates the engine parts. 

2) It remove heat inside two engines. 

3) It allows for the deposit of carbon on the spark plug. 

A)  1, 2 and 3 

B)  1 and 2 only 

C)  2 and 3 only 

D)  1 and 3 only 

rÇahd fhuz§fis bjÇî brŒf: 

ã‹tU« fhuz§fËdhš ïU r¡fu thfd§fS¡F, bg£nuhYl‹ v©bzŒ fy¡f¥gL»wJ. 

1. ïaªâu ghf§fis cuhŒÉÈUªJ ghJfh¡F«. 

2. ïU ïaªâu§fS¡»ilÆyhd bt¥g¤ij ïJ btËna‰W« 

3. Ô¥bgh¿¢ brU»š (plug), ïJ fÇia¥ goa it¡F« 

A) 1, 2 k‰W« 3     

B) 1 k‰W« 2 k£L« 

C) 2 k‰W« 3 k£L« 

D) 1 k‰W« 3 k£L« 
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102. Match the following : 

a) Osmium  1. Best conductor of electricity 

b)  Lithium   2. Heaviest metal 

c)  Tungsten   3. Lightest metal 

d)  Silver   4. Highest melting point – 3300°C 

 

 (a) (b) (c) (d)   

A) 1 2 3 4  

B) 2 1 4 3 

C) 2 3 4 1  

D) 3 4 1 2 

 

rÇahf¥ bghU¤Jf: 

a) MÞÄa« 1.  áwªj Ä‹fl¤â 

b) È¤âa« 2.  Äf¡ fdkhd cnyhf« 

c) l§Þl‹ 3.  Äf ïnyrhd cnyhf« 

d) ášt®  4.  mâf cUFÃiy – 3300°C 

 

 (a) (b) (c) (d)   

A) 1 2 3 4  

B) 2 1 4 3 

C) 2 3 4 1  

D) 3 4 1 2 

(9TH Book Term II  Page no. 59) 
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103. Match List I with List II correctly: 

List - I   List - II 

(Solution)  (pH value) 

a) Blood  1. 6.5 

 b)  Urine  2. 7.3 - 7.5 

 c)  Vinegar  3. 5.5 - 7.5 

 d)  Milk  4. 2.4 - 3.4 

 

  (a) (b) (c) (d)   

A) 2 3 4 1  

B) 2 4 1 3 

C) 4 2 3 1  

D) 3 1 4 2 

 

g£oaš - I ÈUªJ g£oaš - II I rÇahf¥ bghU¤Jf: 

 g£oaš - I g£oaš – II 

(fiurš) (pH - kâ¥ò) 

a) FUâ 1.  6.5 

b) áWÚ® 2.  7.3 - 7.5 

c) ÉÅf® 3.  5.5 - 7.5  

d) ghš     4.  2.4 - 3.4 

 

  (a) (b) (c) (d)   

A) 2 3 4 1  

B) 2 4 1 3 

C) 4 2 3 1  

D) 3 1 4 2 
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104. The theme of the World Special Week (World Space Week), celebrated from 4th 

October 2017 to 10th October 2017 is 

A) Exploring new world in space 

B) Yoga for wellness 

C) Water and energy for inclusive growth 

D) Peace, progress and prosperity 

 

2017 m¡nlhg® 4 Kjš, 2017 m¡nlhg® 10 tiuÆš bfh©lhl¥g£l cyf¢ áw¥ò thu¤âdJ 

fU¥bghUŸ 

A) É©btËÆš òJ cyf¤â‹ njlš 

B) eyKilik¡fhd nahfh 

C) cŸsl§»a ts®¢á¡fhd Ú® k‰W« M‰wš 

D) mikâ, K‹nd‰w« k‰W« brGik 

 

105. Who among the following women boxers was declared best boxer of the meet during 

the World Youth Boxing Championship held in Guwahati in 2017? 

A) Nabin Chandra 

B) Sarjubala Devi 

C) Minu Basumalary 

D) Ankushita Boro 

2017-M« M©L, FtAh£oÆš eilbg‰w cyf ïisnah® bg©fŸ F¤J¢r©il 

ngh£oÆš fyªJ bfh©lt®fSŸ Äf¢ áwªj åu® vd ghuh£l¥g£lt®. 

A) eã‹ rªâuh 

B) r®#&ghyh njÉ 

C) ÄD ghRkyÇ 

D) m§Fá£lh nghuh 
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106. “Operation Ice Bridge is associated with 

A) ISS      B) ISRO 

C) NASA     D) ESA 

 

  ‘gÅ ghy« elto¡if’ vªj mik¥nghL bjhl®òilaJ 

A) ISS      B) ISRO 

C) NASA     D) ESA 

 

 

107. Identify the organisation inaugurated on October 2017 at New Delhi by Prime Minister 

of India. 

A) All India Institute of Unani 

B) All India Institute of Siddha 

C) All India Institute of Ayurveda 

D) All Indian Institute of Naturopathy 

 

òJ blšÈÆš, 2017-M« M©L m¡nlhg® khj« ïeâa ãujk® mt®fshš bjhl§» 

it¡f¥g£l mik¥ò 

A) mid¤âªâa ídhÅ kU¤Jt ÃWtd«     

B) mid¤âªâa á¤j kU¤Jt fHf« 

C) mid¤âªâa Mí®ntj kU¤Jt fHf« 

D) mid¤âªâa ïa‰if kU¤Jt fHf« 
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108. Match the title winners with their championship of 2017: 

a) Ms. Saikhom Mirabai Chanu  1. World Junior (V 20) Chess Championship 

b)  Ms. Mary Kom    2. World Weightlifting Championship 

c)  Mr. Gopi Thonakal   3. Asian Women’s Boxing Championship 

d)  Master Aravindh Chitambaram 4. Asian Marathon Championship 

 

  (a) (b) (c) (d)   

A) 3 4 2 1 

B) 2 3 4 1 

C) 2 3 1 4  

D) 3 2 1 4 

 

2017 ïj‰fhd g£l« bt‹wtiuí«, rh«ãa‹ Î¥ g£l¤ijí« bghU¤Jf: 

a) bršÉ. rhŒnfh« ÛuhghŒ rhD  1.  cyf ïsÃiy (V 20) rJu§f rh«ãa‹Î¥ 

b) bršÉ. nkÇ fh«    2.  cyf gSö¡F«  rh«ãa‹Î¥ 

c) âU. nfhã bjhbd¡fš   3.  Máa kfË® F¤J¢r©il rh«ãa‹Î¥ 

d) bršt‹ muÉª¤ áj«gu«      4.  Máa khuh¤jh‹ rh«ãa‹Î¥ 

 

  (a) (b) (c) (d)   

A) 3 4 2 1 

B) 2 3 4 1 

C) 2 3 1 4  

D) 3 2 1 4 
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109. The writer of the Novel “Dukkam Sukkham” who has been chosen for the Vyas 

Samman 2017 is Mr/Mrs 

A) Surindar Verma 

B) Sunita Jain 

C) Mamta Kalia 

D) Kamal Kishore Goyenka 

 

2017-M« M©o‰fhd ÉahÞ r«kh‹ ÉUâ‰fhf nj®ªbjL¡f¥g£LŸs ‘J¡f« R¡f«’ v‹w 

ehtÈ‹ MáÇauhd ït®, âU/âUkâ 

A) RÇªj® t®kh 

B) RÅjh b#Æ‹ 

C) k«jh fhÈah    

D) fkš »nõh® nfha‹fh 

 

110. The recommendations of 15th Finance Commission will be effect from which date? 

A) January 1, 2018 

B) April 1, 2018 

C) April 1, 2020 

D) January 1, 2020 

 

15-tJ Ãâ¡FGÉ‹ gÇªJiufŸ v¥bghGJ eilKiw¡F tU«? 

A) #dtÇ 1, 2018 

B) V¥uš 1, 2018 

C) V¥uš 1, 2020 

D) #dtÇ 1, 2020 
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111. Which city received India’s first UNESCO Heritage City Certificate in September 2017? 

A) Puri 

B) Kanchipuram 

C) Aurangabad 

D) Ahmadabad 

 

br¥l«g® 2017-ïš ïªâahÉ‹ Kjš UNESCO ghu«gÇa rh‹¿jœ bg‰w efu« vJ? 

A) óÇ 

B) fhŠáòu« 

C) mîu§fhgh¤ 

D) mfkjhgh¤ 

 

112. Who won the India’s 46th Grandmaster Chess Champion Tournament - 2017? 

A) Srinath Naren 

B) Srinath Narayanan 

C) Sriniath Venu 

D) Srinath Srinivasan 

 

ïªâahÉ‹ 46-tJ »uh©£ khÞl® brÞ Éisah£L rh«ãa‹ 2017 ah®? 

A) $eh¤ enu‹ 

B) $eh¤ ehuhaz‹ 

C) $eh¤ ntQ 

D) $eh¤ $Ãthr‹ 
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113. Match the following : 

Deficiency diseases 

a) A   1. Pellagra 

b)  B1   2. Nictalopia 

c)  B6   3. Pernecious Anamia 

d)  B12   4. Beri Beri 

 

 (a) (b) (c) (d)   

A) 2 3 1 4  

B) 1 4 2 3 

C) 4 1 3 2  

D) 2 4 1 3 

 

bghU¤Jf: 

a) A 1.  bgšy¡uh 

b)  B1 2.  Ã¡lnyhãah 

c)  B6 3.  bg®ÜáaÞ mÜÄah 

d)  B12     4.  bgÇ-bgÇ 

 

 (a) (b) (c) (d)   

A) 2 3 1 4  

B) 1 4 2 3 

C) 4 1 3 2  

D) 2 4 1 3 
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114. Which of the following pairs are incorrect? 

I. Chloroflurocarbons - Refrigerators 

II. Methane   - Ploughing of fields 

III. Nitrous oxide  - Enteric fermentation in cows 

IV. Carbon dioxide  - Burning of fossil fuels 

A) I and II 

B) II and III 

C) III and IV 

D) I and IV 

Ñœ¡f©lt‰WŸ jtwhd ïizfŸ ahJ? 

I. Fnshnuhònshnuh fh®g‹ - FË®rhjd¥ bg£o 

II. Û¤nj‹   - g©iz k©iz cGjš 

III. ie£uÞ M¡i[L - fhšeilfËš brÇ¤jš 

IV. fh®g‹ il M¡i[L - òij got vÇbghU£fis vÇ¤jš 

A) I k‰W« II 

B) II k‰W« III 

C) III k‰W« IV 

D) I k‰W« IV 

 

115. The respiratory quotient of glucose in anaerobic respiration is 

A) One 

B) Four 

C) Infinity 

D) Less than one 

fh‰¿šyh Rthr¤âš FS¡nfhÌ‹ Rthr <î _________ MF«. 

A) tÊ bt©gly«     

B) áWÚuf« 

C) ~bgnsh¥ãa‹ FHhŒ    

D) fU¥ig 
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116. The value of e0 is 

A) e      B) 1 

C) 0      D) ∞ 

 

e0 -É‹ kâ¥ò 

A) e      B) 1 

C) 0      D) ∞ 

 

117. How many solutions have a linear equation in one variable? 

A) Three solutions    B) Unique solutions 

C) Two solutions    D) No soultuions 

 

xU kh¿Æš mikªj X® xUgo¢ rk‹gh£o‰F v¤jid Ô®îfŸ? 

A) _‹W Ô®îfŸ    B) xU Ô®î 

C) ïu©L Ô®îfŸ    D) Ô®îfŸ ïšiy 

 

118. The 7th term of the sequence 0.12, 0.012, 0.0012.... is 

A) 1.2×106     B) 1.2×10–6 

C) 1.2×107     D) 1.2×10–7 

 

ÏÞblu¡nlhÄ v‹gJ vjid mf‰Wtj‰fhd mWit á»¢ir 

A) 1.2×106     B) 1.2×10–6 

C) 1.2×107     D) 1.2×10–7 
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119. Simplify: 

9 3 3 3of
8 5 4 5

 ÷ + 
 

 

 

A) 111
18

     B) 51
18

 

C) 131
18

     D) 71
18

 

 

RU¡Ff: 

9 3 3 3of
8 5 4 5

 ÷ + 
 

 

 

A) 111
18

     B) 51
18

 

C) 131
18

     D) 71
18

 

 

120. A sum of money triples itself at 8% per annum over a certain time. The time taken is 

A) 20 years      

B) 22 years 

C) 25 years      

D) 30 years 

 

xU F¿¥ã£l mryhdJ M©L¡F 8%  t£o åj¤âš _‹W kl§fhFtj‰F ão¡F« fhy« 

A) 20 M©LfŸ     

B) 22 M©LfŸ 

C) 25 M©LfŸ     

D) 30 M©LfŸ 
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121. Find the correct relationship between G.C.D and L.C.M 

I. G.C.D = L.C.M. 

II. G.C.D ≤  L.C.M. 

III. L.C.M. ≤ G.C.D. 

IV. L.C.M> G.C.D. 

A) I       B) II 

C) III       D) IV 

ïU bt›ntW v©fË‹ (G.C.D k‰W« L.C.M) rÇahd bjhl®ò 

I. Û¥bgU.bgh.t. = Û¢áW.bgh.k 

II. Û¥bgU. bgh.t. ≤ Û¢áW. bgh.k 

III. Û¢áW.bgh.k ≤ Û¥bgU.bgh.t. 

IV. Û¢áW. bgh.k > Û¥bgU.bgh.t. 

A) I       B) II 

C) III       D) IV 

 

122. If p, q, r, s, t are in A.P., then the value of p – 4q – 6r – 4s + t is 

A) 1      B) 2 

C) 3      D) 0 

p, q, r, s, t v‹gd T£L¤ bjhl® tÇirÆš (A.P.) ïU¥ã‹, p – 4q – 6r – 4s + t = ? 

A) 1      B) 2 

C) 3      D) 0 

 

123. The G.C.D and L.C.M. of 90, 150, 225 is 

A) 15, 450      B) 450, 15 

C) 90, 225     D) 225, 150 

90, 150, 225 M»a v©fË‹ Û.bgh.t k‰W« Û.bgh.k. 

A) 15, 450      B) 450, 15 

C) 90, 225     D) 225, 150 
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124. If  − =
1y 6
y

 find the value of −3
3

1y
y

 

A) 216      B) 222 

C) 234     D) 228 

− =
1y 6
y

 vÅš −3
3

1y
y

ï‹ kâ¥ig¡ fh©f. 

A) 216      B) 222 

C) 234      D) 228 

 

125. Which of the following statement is false in a Parallelogram? 

A) The opposite sides are parallel   

B) The opposite angles and sides are equal 

C) The diagonals are equal    

D) The diagonals bisect each other 

 

X® ïizfu¤âš vJ jtwhd T‰W? 

A) vâ®¥ g¡f§fŸ ïizahF« 

B) vâbuâ® nfhz§fŸ k‰W« g¡f§fŸ rkkhF« 

C) _iy É£l§fË‹ Ús§fS« rkkhF« 

D) _is É£l§fŸ x‹iwbah‹W ïU rk¡ T¿L« 

 

126. Reciprocal of 0 is __________. 

A) 0      B) 1 

C) ∞      D) no reciprocal 

 

0 -É‹ jiyÑÊ __________. 

A) 0      B) 1 

C) ∞      D) jiyÑÊ »ilahJ 
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127. Which one of the following statements is false? 

A) Among the common divsors of given numbers, the greatest divisor is the G.C.D. 

B) If the G.C.D. of any two numbers is 1 they are said to be prime numbers 

C) Among the common multiples of given numbers, the least is the L.C.M. 

D) The product of any two numbers is equal to the product of their G.C.D. and L.C.M. 

 

ÑœfhQ« T‰WfËš vJ jtwhd T‰whF«? 

A)  bt›ntW v©fË‹ bghJ tF¤âfËš Äf¥bgÇa tF¤â m›bt©fË‹ Û¥bgU bghJ 

tF¤â MF«, 

B)  ïU v©fË‹ Û¥bgU bgh.t. 1 vÅš m›ÉU v©fS« gfh v©fŸ vd¥gL«. 

C)  bt›ntW v©fË‹ bghJ kl§FfËš Äf¢áwa kl§F m›bt©fË‹ Û¢áW bghJ 

kl§F MF«. 

D)  ïU v©fË‹ bgU¡f‰gy‹ mt‰¿‹ Ä¥bgU bgh.t. k‰W« Û¢áW bgh.k. M»at‰¿‹ 

bgU¡f‰gyD¡F¢ rkkhF«. 

 

128. Which state Government has launched Gyankunj e-class project? 

A) Andhra Pradesh 

B) Delhi 

C) Kerala 

D) Gujarat 

 

vªj khÃy muR ¡ah‹f§Š Ä‹-t®¡f â£l¤âid brašgL¤âaJ? 

A) Mªâu ãunjZ 

B) blšÈ 

C) nfush 

D) F#uh¤ 
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129. The Union Ministry of health and family welfare and ICMR launched IHMI on 

November - 28 - 2017. What does IHMI stands for? 

A) India Hypertension Management Initative 

B) India Health Management Initiative 

C) Indian Heart and Mind Care Intellect 

D) India Health Maintenance Initiative 

 

eythœî k‰W« FL«g ey¤Jiw x‹¿a mik¢rf« 2017-et«g®-28 m‹W ICMR cl‹ 

ïizªJ IHMI -Æid Jt¡»íŸsJ. IHMI v‹gJ vij¡ F¿¡F«? 

A) ïªâa mâf ïu¤j mG¤j« nkyh©ik bjhl¡f« 

B) ïªâa njfÃiy k‰W« ey nkyh©ik bjhl¡f« 

C) ïªâaÅ‹ ïja k‰W« _is ey m¿î 

D) ïªâa njfÃiy Mnuh¡»a« k‰W« guhkÇ¤jš bjhl¡f« 

 

130. Which commission sets up international food standard? 

A) Codex Alimentations Commission 

B) Food and Agricultural Commission 

C) World Health Commission 

D) I.S.I 

 

czî bghU£fŸ r«gªj¥g£l cyf ju¤ij m¿ªJ bfhŸS« bghU£L mik¡f¥g£l 

fÄõ‹ ahJ? 

A) nfhlh¡Þ mÈbk‹nlõ‹ fÄõ‹ 

B) czî k‰W« ntsh©ik¤ Jiw fÄõ‹ 

C) cyf Rfhjhu fÄõ‹ 

D) ïªâa ju FGk« 
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131. Supply is constant in 

A) Short period    B) Very short period 

C) Long period    D) Very long period 

mË¥ò Ãiyahf ïU¡F« fhy« 

A) FW»a fhy«    B) Äf¡FW»a fhy« 

C) Ú©l fhy«    D) Äf Ú©l fhy« 

 

132. Match the following : 

a) Governor   1. Article 171 

b)  Chief Minister    2. Article 170 

c)  Legislative Council 3. Article 153 

d)  Legislative Assembly 4. Article 163 

 (a) (b) (c) (d)   

A) 3 2 4 1  

B) 3 4 1 2 

C) 1 4 3 2  

D) 2 3 1 4 

bghU¤Jf: 

a) MSe® 1.  Éâ 171 

b) Kjyik¢r® 2.  Éâ 170 

c) nkyit 3.  Éâ 153 

d) r£lrig     4.  Éâ 163 

 (a) (b) (c) (d)   

A) 3 2 4 1  

B) 3 4 1 2 

C) 1 4 3 2  

D) 2 3 1 4 
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133. Match the following and choose the correct answers: 

  Local winds   Location 

a) Chinook   1. Gulf of Mexico 

b)  Fohn    2. USA 

c)  Mistral    3. Norther Italy 

d)  Norte    4. Alps region 

 

 (a) (b) (c) (d)   

A) 2  3 4 1 

B) 4 3 2 1 

C) 1 4 2 3  

D) 4 2 1 3 

 

Ñœf©t‰iw bghU¤â rÇahd Éilia nj®ªbjL: 

jy¡ fh‰WfŸ ïl§fŸ 

a) á‹}¡ 1.  bk¡ánfh tisFlh 

b) ~gh‹ 2.  mbkÇ¡f I¡»a ehLfŸ 

c) ÄÞ£uš 3.  tl¡F ï¤jhÈ 

d) eh®£     4.  Mš¥Þ kiy 

 

 (a) (b) (c) (d)   

A) 2  3 4 1 

B) 4 3 2 1 

C) 1 4 2 3  

D) 4 2 1 3 
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134. Match List I with List II: 

Major Flood Disasters 

List I    List II 

a) China   1. St. Francis 

b)  Pennsylvania    2. Assam 

c)  Los Angeles    3. Hwang Ho 

d)  India    4. Johnstown 

 

 (a) (b) (c) (d)   

A) 4 1 2 3 

B) 3 4 1 2 

C) 2 1 3 4  

D) 3 1 2 4 

 

tÇir I cl‹ tÇir II-id bghU¤Jf: 

K¡»a btŸs¢ Ó®Fiyî 

 tÇir - I tÇir – II 

a) irdh 1.  brÆ‹£ ãuh‹ÌÞ 

b) bg‹ášntÅah 2.  mÞ[h« 

c) yhÞ VŠršÞ 3.  Ahth§ nAh 

d) ïªâah     4.  n#h‹Þlh‹ 

 

 (a) (b) (c) (d)   

A) 4 1 2 3 

B) 3 4 1 2 

C) 2 1 3 4  

D) 3 1 2 4 
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135. Vak Pathar wrote 

A) Pancha Sidhanthiga 

B) Astangasamgraham 

C) Girudharshuniam 

D) Amarakosam 

 

th¡gj® vGâa üš  

A) gŠr á¤jhªâfh 

B) mZlh§f r«»Uj« 

C) »Ujh®¢RÅa« 

D) mkunfhõ« 

 

136. Guerilla warefare means 

A) Regular warefare 

B) Practised warfare 

C) Irregular warefare 

D) Mixed warfare 

 

bfhÇšyh ngh® Kiw v‹whš 

A) Kiwahd ngh® Kiw 

B) gÆ‰á bg‰w ngh® Kiw 

C) Kiwrhuh ngh® Kiw 

D) fy¥ò ngh® Kiw 
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137. In Tamil Nadu which year TNEB was established on the basis of EB Act of 1948? 

A) 1957 July 1 

B) 1957 August 1 

C) 1957 September 1 

D) 1957 October 1 

 

1948-« M©L Ä‹g»®khd r£l¤â‹go jÄHf¤âš vªj M©L Ä‹rhu thÇa« TNEB 

mik¡f¥g£lJ? 

A) 1957 #]iy 1 

B) 1957 MfÞ£ 1 

C) 1957 br¥l«g® 1 

D) 1957 m¡nlhg® 1 

 

138. Which monument depicted the similarity between Prakoy Literature and Dravida 

Literature? 

A) Bengali 

B) Lisiar 

C) Caspiar 

D) Telugu 

 

ãuhTŒ bkhÊfS¡F«, âuhÉl bkhÊfS¡F« ïilna cŸs x‰Wikia TW« fšbt£L 

A) t§fhs 

B) Èáa® 

C) fhÞãa® 

D) bjY§F 
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139. In Rigvedic period warrior art taught to the Princes of olden days are known as 

A) Sama Vedam    B) Danur Vedam 

C) Adharva Vedam    D) Varuna Vedam 

Ç¡ntj fhy¤âš mur Fkhu®fS¡F f‰ã¡f¥g£l ngh®¡fiy ï›thW miH¡f¥g£lJ. 

A) rhk ntj«     B) jD® ntj« 

C) mj®t ntj«    D) tUz ntj« 

 

140. Match  

List I      List II 

a) Public Service Commission   1. 1924 

b)  Hindu Religious Endowment Act  2. 1929 

c)  Andhra University    3. 1926 

d)  Staff Selection Board    4. 1925 

 (a) (b) (c) (d)   

A) 4 3 2 1 

B) 2 4 1 3 

C) 4 2 3 1  

D) 2 3 4 1 

bghU¤Jf: 

 tÇir - I   tÇir – II 

a) bghJgÂ nj®thiza«  1.  1924 

b) ïªJ mwÃiya r£l«  2.  1929 

c) Mªâuh gšfiy¡fHf«  3.  1926 

d) gÂahs® nj®î thÇa«      4.  1925 

 (a) (b) (c) (d)   

A) 4 3 2 1 

B) 2 4 1 3 

C) 4 2 3 1  

D) 2 3 4 1 
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141. Match the following and choose the correct one: 

a) Panipet   1. A.D. 1527 

b) Gaghra    2. A.D. 1528 

c) Khanwa    3. A.D. 1529 

d) Chandari    4. A.D. 1526 

 

 (a) (b) (c) (d)   

A) 1 2 4 3 

B) 4 3 1 2 

C) 3 4 2 1  

D) 2 1 3 4 

 

ÑœtUgdt‰iw bghU¤â rÇahd Éilia nj®î brŒf: 

 a) ghÅg£ 1.  ».ã. 1527 

b) fh¡uh 2.  ».ã. 1528 

c) fh‹th 3.  ».ã. 1529  

d) rªnjÇ     4.  ».ã. 1526 

 

 (a) (b) (c) (d)   

A) 1 2 4 3 

B) 4 3 1 2 

C) 3 4 2 1  

D) 2 1 3 4 
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142. Agricultural productivity can be measured in terms of 

A) Consumption of fertilizers and labour productivity 

B) Irrigational facilities 

C) Land and labour productivity 

D) Mechanization 

 

ntsh©ik c‰g¤âia msÉL« Kiw 

A) cu¤â‹ Ef®tsî k‰W« ciH¥ò c‰g¤â âw‹ 

B) Ú®¥ghrd trâ 

C) Ãy« k‰w« ciH¥ã‹ c‰g¤â¤âw‹ 

D) vªâukakhjš 

 

143. The classical economists believed in ___________ policy. 

A) Free trade     

B) Industrial 

C) Export and Import    

D) Commerce 

 

gHik¥ bghUËaš m¿P®fŸ ___________ bfhŸifÆš e«ã¡if bfh©oUªjd®. 

A) jilÆšyh thÂg«    

B) bjhÊšJiw 

C) V‰Wkâ k‰W« ïw¡Fkâ    

D) thÂf« 
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144. Match the correct answer: 

a) Saradha Act   1. 1992 

b) Equal Pay Act    2. 1976 

c) Block Borad Art   3. Tmt. Indira Gandhi 

d) 20 Point Programme 4. 1929 

 

 (a) (b) (c) (d)   

A) 4 2 1 3 

B) 3 1 2 4 

C) 2 1 3 4  

D) 3 4 2 1 

 

bghU¤Jf: 

a) rhujh â£l« 1.  1992 

b) rk Câa â£l« 2.  1976 

c) fU«gyif â£l« 3.  âUkâ. ïªâuhfhªâ 

d) 20 m«r â£l«     4.  1929 

 

 (a) (b) (c) (d)   

A) 4 2 1 3 

B) 3 1 2 4 

C) 2 1 3 4  

D) 3 4 2 1 
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145. Which of the following devices converts light signals into electrical (or) electronic 

signals? 

1) Digital camera 

2) Fax machine 

3) Optical transmitter 

A)  1 and 2 only 

B)  2 and 3 only 

C)  1 and 3 only 

D)  1, 2 and 3 

 

ã‹tU« cgfuz§fËš, xË iriffis Ä‹Åaš (m) Ä‹dQ iriffshf kh‰Wgit 

1. ïy¡f xË¥gl¡ fUÉ 

2. bjhiy efÈ 

3. xËÆaš gu¥ã 

A) 1 k‰W« 2 k£L« 

B) 2 k‰W« 3 k£L« 

C) 1 k‰W« 3 k£L« 

D) 1, 2 k‰W« 3 

 

146. A man sitting in the revolving chair with stretched hands, suddenly bend his hands, 

the angular velocity. 

A) decreases     B) increases 

C) zero     D) constant 

iffŸ Ú£l¥g£l ÃiyÆš RHY« eh‰fhÈÆ‹ ÛJ mk®ªâU¡F« xUt®, âObud iffis 

kl¡F«nghJ, nfhz¤ âirntf« 

A) Fiwí«     B) mâfkhF« 

C) RÊahF«     D) khwhkÈU¡F« 
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147. Which of the following statements is/are wrong? 

1) Light year is a unit of time. 

2) Astronomical unit (AU) is a unit of distance. 

3) Parsec is a unit of mass. 

A)  2 and 3     B) 1 and 3 

C)  3 only     D) 1 only 

Ñœ¡f©l T‰WfËš vJ/vit jtwhdJ MF«? 

1. xË M©L v‹gJ fhy¤â‹ X® myfhF«. 

2. thÅaš myF (AU) v‹gJ bjhiyÉ‹ X® myfhF«. 

3. gh®br¡ v‹gJ ÃiwÆ‹ X® myfhF«. 

A) 2 k‰W« 3     B) 1 k‰W« 3 

C) 3 k£L«     D) 1 k£L« 

 

148. Identify the incorrect pair: 

I. Washing soda   - Na2CO3 

II. Bleaching power - CaO  

III. Plaster of paris  - CaSO4
1
2
⋅ H20 

IV. Baking soda  - NaHCO3 

A)  I      B)  II 

C)  III      D)  IV 

jtwhd n#hoia f©l¿f: 

I. ryit nrlh  - Na2CO3 

II. ryit¤ öŸ  - CaO  

III. ghßÞ rhªJ  - CaSO4
1
2
⋅ H20 

IV. rikaš nrhlh  - NaHCO3 

A)  I      B)  II 

C)  III      D)  IV 
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149. What are the chemicals present in match stick? 

A) Red phosphorous, glue, sulphur 

B) Antimony sulphide, sulphur, potassium chlorate 

C) Antimony sulphide, red phosphorous, glue      

D) Antimony sulphide, phosphorous, sulphur 

 

Ô¡F¢áÆš cŸs ntâ¥bghU£fŸ ahit? 

A) át¥ò ghÞguÞ, t¢áu«. fªjf« 

B) M©okÅ ršigL, fªjf«, bgh£lháa« Fnshnu£ 

C) M©okÅ ršigL, át¥ò ghÞguÞ, t¢áu« 

D) M©okÅ ršigL, ghÞguÞ, fªjf« 

 

150. Identify the odd person out of the following: 

A) Trisha Deb 

B) Nital Paul 

C) Lily Chanu Poonam 

D) Jyothi Surekha Vennam 

 

ÑnH bfhL¡f¥g£LŸst®fËš bghUªjhj egiu nj®ªbjL. 

A) âÇõh nj¥ 

B) Ã£lš ghš 

C) ÈšÈ rhD ód« 

D) n#hâ Rnufh bt‹d« 

 

 

 

 



   29 
 

 
 

 

151. Mention the floriculture centre started recently under the Indo Israel joint agreement 

on agricultural project. 

A) Thovalai, Kanyakumari District 

B) Thally, Krishnagiri District 

C) Anna Nagar, Chennai 

D) Connoor, Nilagiri District 

 

rÛg¤âš ïªâa-ïÞnuš T£L ntsh©ik â£l¤â‹ Ñœ ky® ts®¥ò ika« v§FŸsJ. 

A) njhthiy, f‹ÅahFkÇ kht£l« 

B) jË, »UZz»Ç kht£l« 

C) m©zhef®, br‹id 

D) F‹}®, Úy»Ç kht£l« 

 

152. The Planning Commission in India is now known as 

A) Planning Council 

B) NITI Aayog 

C) NITI Sanjog 

D) Bharatiya Aayog Mandal 

 

ïªâahÉ‹ â£l¡ fÄõ‹ j‰nghJ v›thW miH¡f¥gL»wJ? 

A) â£l¡FG 

B) Ãâ Mnah¡ (NITI Aayog) 

C) Ãâ rŠn#h¡ (NITI Sanjog) 

D) ghuâa Mnah¡ k©lš 
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153. Who among the following has been appointed as the Deputy Director General for 

programmes of the World Health Organisation? 

A) Nisha Desai Biswal 

B) Dineshwar Sharma 

C) Soumya Swaminathan 

D) Gautam Bewbawala 

 

cyf Rfhjhu ÃWtd¤â‹ òâa Jiz¥ bghJ ïa¡Feuhf (â£l«) (Deputy Director General) 

ÃaÄ¡f¥g£lt®  

A)  Ãõh njõhŒ ãÞghš      

B) ândZt® r®kh 

C)  brsÄah RthÄehj‹ 

D)  bfsj« ãôgthyh 

 

154. In order to encourage the powerloom sector ad help small industrious, and joint venture 

launched by the ministry of power of powerloom and textiles in 2017 is called 

A) SAMPRADA 

B) DOST 

C) AARAKSHAN 

D) SAATHI 

 

2017-M« M©L ïªâa Éir¤j¿ k‰W« #îË¤ Jiw, Éir¤j¿ k‰W« áWbjhÊš 

ÃWtd§fŸ M»ait bk‹nkY« tsu C¡f¥gL¤j¥g£l â£l«  

A) SAMPRADA 

B) DOST 

C) AARAKSHAN 

D) SAATHI 
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155. The recently conducted Indo-Maldives Joint Military exercises was called as  

A) IMBAX 2017 

B) EKUVERIN 2017 

C) INDAR 2017 

D) SAMPRITI 2017 

 

rÛg¤âš eilbg‰w ïªâa khy¤Ôî guÞgu T£L ïuhQt gÆ‰á v›thW miH¡f¥gL»wJ?  

A)  ï«gh¡Þ 2017 

B) v¡FtÇ‹ 2017 

C)  ïªâuh 2017 

D)  r«¥ß¤ 2017 

 

156. India lacks a strong backhaul to get a transition to 5G with in September 2017. 

Backhaul is a network 

A) Portal for data discrimination 

B) Connecting cell sites to central exchange 

C) Coupler for wireless data transmission 

D) Range finder for cellular consumers 

 

br¥l«g® 2017-¡FŸ ïªâah, 5G-¡F, Ãiykh‰w« V‰gL¤â¡ bfhŸS« msÉyhd tYthd 

‘gh¡Aîiy’ (Backhaul) bg‰¿U¡fÉšiy. gh¡Aîš v‹gJ ïj‰fhdbjhU ïiza tiy 

tif  

A)  juî gF¥ghŒÉ‰F©lhd thÆš 

B) ika k‰W« Ãiya¤njhL if¥ngáÆ‹ j§F ÃiyÆid ïiz¡F« tiy 

C)  f«ãÆšyh juî brY¤Jif¡fhd ãiz¥ã 

D)  if¥ngá Ef®nthU¡fhd beL¡f§fh£o 
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157. Which Tamil Nadu State Highway among these was not upgraded as National Highway 

in November 2017?  

A) Tirupur – Odanchatram State Highway 

B) Salem – Tirupathur – Vaniyambadi State Highway 

C) Kodaighat – Kodaikanal State Highway 

D) Chennai – Ennore State Highway 

 

g£oaÈš ïU¡F« jÄœeh£o‹ vªj khÃy beLŠrhiy et«g® 2017-š njáa 

beLŠrhiyahf nk«gL¤j¥glÉšiy? 

A)  âU¥ó® - X£l‹r¤âu« khÃy beLŠrhiy 

B) nry« - âU¥g¤ö® - thÂa«gho khÃy beLŠrhiy 

C)  nfhilfh£ - bfhil¡fhdš khÃy beLŠrhiy 

D)  br‹id - v©Q® khÃy beLŠrhiy 

 

158. Were was the Fourth World Tamil’s Economic Conference held?  

A) Coimbatore 

B) Kualalumpur 

C) Singapure 

D) Durban 

 

eh‹fhtJ “cyf¤ jÄH® bghUshjhu khehL” v§F eilbg‰wJ?  

A)  nfhit 

B) nfhyhy«ó® 

C)  á§f¥ó® 

D)  l®g‹ 
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159. Identify the defence equipment which was officially decommissioned on December 17, 

2017 by the Indian Air Force  

A) P.S ILR Maritime Reconnaissance Anti Submarine Warfare Aircraft 

B) Mi-8 Attack and Utility Helicopter 

C) P-3 Orion Anti Submarine Warfare Aircraft 

D) Mi-V5 Medium Lift Reconnaissance Aircraft 

 

ïªâa Ékhd¥ gilahš 2017-« M©L or«g® 17-« ehŸ mYtš ßâahf ifÉl¥g£l 

ghJfh¥ò C®â  

A) P.S ILR Maritime Reconnaissance Anti Submarine Warfare Aircraft 

B) Mi-8 Attack and Utility Helicopter 

C) P-3 Orion Anti Submarine Warfare Aircraft 

D) Mi-V5 Medium Lift Reconnaissance Aircraft 

 

160. Identify the Playwright who published the work “Dark horse and other plays” in October 

2017?  

A) Gowri Ramnarayan 

B) Gowri Lankesh 

C) Arun Kolatkar 

D) Mahesh Dattani 

 

2017-« M©L m¡nlhgÇš btËÆl¥g£l “Dark horse and other plays” v‹w ehlf¤ij 

btËÆ£lt®  

A) bfsÇ uh«ehuha© 

B) bfsÇ y§nfZ 

C) mU© bfhyh¤f® 

D) knfZ j¤jhÂ 
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161. 1.  Amnion provides a fluid medium for the embryo 

2.  The Chorion and Allantois fuse to form placenta 

3.  Yolk sac provides a fluid medium for embryo 

Choose the correct: 

A) 1 and 2 are wrong 

B) 1 and 2 are right 

C) 2 and 3 are right 

D) 1 and 3 are right 

1.  M«Åah‹ Ú®k Clf¤ij¡ fUÉ‰F bfhL¡»wJ. 

2. nfhÇah‹ my©lhŒÞ ïizªJ jhŒ nrŒ ïiz¥ghf khW»wJ. 

3. nah¡rh¡ Ú®k Clf¤ij¡ fUÉ‰F bfhL¡»wJ.  

vJ rÇ? 

A) 1, 2 jtW 

B) 1, 2 rÇ 

C) 2, 3 rÇ 

D) 1, 3 rÇ 

 

162. Which group of plants species are lower in number in the plant kingdom?  

A) Fungi 

B) Pteridophyta 

C) Bryophytes 

D) Gymnosperms 

jhtu cy»š Äf¡ Fiwªj v©Â¡ifÆš á‰¿d§fŸ bfh©l jhtu bjhFâ vJ?  

A) óŠirfŸ 

B) blÇnlhig£lh 

C) ãiunah~ig£LfŸ 

D) Í«ndhÞbg®«fŸ 
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163. Which class of algae is used in the manufacture of dynamite?  

A) Chlorophyceae 

B) Chrysophyceae 

C) Cryptophyceae 

D) Pheophyceae 

vªj tF¥ò Mšfh¡fŸ ildik£L c‰g¤â brŒtâš ga‹gL»‹wd?  

A) Fnshnuhigá 

B) »iunrhigá 

C) »Ç¥nlhigá 

D) ~ngnahigá 

 

164. Which is an example for chemosynthetic heterotroph?  

A) Man      B) Viscum 

C) Nitrosomonas    D) Beggiatoa 

 

ntâ ãw rh®ò cÆÇ¡F vL¤J¡fh£L vJ?  

A) kÅj‹     B) ÉÞf« 

C) ie£unrhnkhdhÞ    D) bg¡ahnlhth 

 

165. If the product of four consecutive terms in G.P is 625. Find the first term. 

A) 15      B) 25 

C) 5      D) 35 

 

xU bgU¡F¤ bjhl® tÇirÆ‹ mL¤jL¤j eh‹F cW¥òfË‹ bgU¡F¤ bjhif 625 vÅš 

Kjš cW¥ig¡ fh©f. 

A) 15       B) 25 

C) 5      D) 35 
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166. Gain or loss percent is always calculated on  

A) Cost price 

B) Selling price 

C) Gain 

D) Loss 

 

ïyhg mšyJ e£l rjåj« v¥bghGJ« vj‹ nkš fz¡»l¥gL»wJ?  

A) ml¡f Éiy 

B) É‰gid Éiy 

C) ïyhg« 

D) e£l« 

 

167. A student goes to his  school from his house at a speed 3 km/hr and returns at a speed 

of 2 km/hr. If he takes 5 hours in going and coming the distance between his house 

and school is  

A) 5 km 

B) 5.5 km 

C) 6 km 

D) 6.5 km 

 

xU khzt‹ mtDila gŸË¡F bršY« nghJ kÂ¡F 3 ».Û ntf¤âY« gŸËÆÈUªJ åL 

âU«ò« nghJ kÂ¡F 2 ».Û ntf¤âY« brš»wh®. nkY« mt® gŸË¡F br‹W tu 5 kÂneu« 

vL¤J¡ bfh©lhš gŸË¡F« å£o‰F« cŸs öu« 

A) 5 ».Û 

B) 5.5 ».Û 

C) 6 ».Û 

D) 6.5 ».Û 
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168. If x, 2x + 2, 3x + 3 are in G.P, then 11x, 22x, 33x form 

A) An A.P 

B) A G.P 

C) A constant sequence 

D) Neither A.P. nor a G.P. 

x, 2x + 2, 3x v‹gd xU bgU¡F¤ bjhl® tÇirÆÈU¥ã‹ 11x, 22x, 33x  v‹w bjhl® 

tÇirahdJ  

A) xU T£L¤ bjhl® tÇir 

B) xU bgU¡F¤ bjhl® tÇir 

C) xU kh¿È¤ bjhl® tÇir 

D) xU T£L¤ bjhl® tÇirí« mšy bgU¡F¤ bjhl® tÇirí« mšy 

 

169. The sum of three numbers is 264 if the first number be twice the second and third 

number be one-third of the first, then the second number is  

A) 48      B) 72 

C) 54      D) 64 

_‹W v©fË‹ TLjš 264 Kjš v© ïu©lhtJ v© nghš ïU kl§F, _‹whtJ v© Kjš 

v©Âš _‹¿š xU g§F vÅš ïu©lhtJ v© ahJ? 

A) 48       B) 72 

C) 54      D) 64 

 

170. If 12 + 22 + 32 +...... + 102 = 385 then 22 + 42 + 62 + ........+ 202 is  

A) 770      B) 1150 

C) 1540      D) 385 × 385 

12 + 22 + 32 +...... + 102 = 385 vÅš 22 + 42 + 62 + ........+ 202-‹ kâ¥ò 

A) 770      B) 1150 

C) 1540      D) 385 × 385  
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171. In the ratio x % of y % of x, its fraction value is equals to   

A) 1
xy

 

B) xy 

C) x
y

 

D) 1 

y-‹ x %-¡F« x-‹ y % ïilna, É»j ã‹d¤â‹ kâ¥ò 

A) 1
xy

 

B) xy 

C) x
y

 

D) 1× 

 

172. Arun is now half as old as his father. Twelve years ago the father’s age was three times 

as old as Arun. Now the present age of his father’s age is 

A) 24 years 

B) 36 years 

C) 48 years 

D) 50 years 

 

mUÂ‹ j‰nghija taJ mtUila jªijÆ‹ taâš ghâahF«. g‹Åu©L M©Lf£F 

K‹ò jªijÆ‹ tajhdJ mUÂ‹ taij¥ nghy K«kl§fhf ïUªjJ. j‰nghJ jªijÆ‹ 

taJ 

A) 24 M©LfŸ 

B) 36 M©LfŸ 

C) 48 M©LfŸ 

D) 50 M©LfŸ 



   39 
 

 
 

173. If a, b, c are in A.P., then 3a, 3b, 3c are in  

A) A.P. 

B) G.P 

C) A.P and G.P 

D) None of these 

 

a, b, c  v‹gd xU T£L¤ bjhl®tÇirÆš cŸsd vÅš 3a, 3b, 3c  M»ait ___________ 

v‹w bjhl®tÇirÆš cŸsJ. 

A) A.P 

B) G.P 

C) A.P  k‰W« G.P 

D) VJ« ïšiy 

 

174. If –1 < r < 1, then the sum of infinite number of a geometric series is 

A) 
( )1

1

na r
r

−

−
 

B) 
( )1

1

na r
r

−

−
 

C) 
1

a
r−

 

D) na 

 

–1 < r < 1vÅš KoÉÈ tiu bgU¡F¤ bjhlÇ‹ TLjš 

A) 
( )1

1

na r
r

−

−
 

B) 
( )1

1

na r
r

−

−
 

C) 
1

a
r−

 

D) na 
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175. The angle in a semi circle is a __________ 

A) Acute angle 

B) Obtuse angle 

C) Straight angle 

D) Right angle 

miut£l¤âš mikí« nfhz« __________ 

A) FW§nfhz« 

B) ÉÇnfhz« 

C) ne®nfhz« 

D) br§nfhz« 

 

176. If 
3 4 7
a b c

= =  then a b c
c

+ +  is 

A) 7       B) 2 

C) 1
2       

D) 1
7  

3 4 7
a b c

= =  vÅš 
a b c

c
+ +  v‹gJ 

A) 7       B) 2 

C) 1
2       

D) 1
7

 

 

177. Which is biggest ratio? 

2 : 3, 3 : 5, 4 : 7, 5 : 8  

A) 3 : 5      B) 4 : 7 

C) 5 : 8      D) 2 : 3 

2 : 3, 3 : 5, 4 : 7, 5 : 8 ït‰¿š bgÇaJ vJ? 

A) 3 : 5      B) 4 : 7 

C) 5 : 8      D) 2 : 3 
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178. __________ is the first Indian city to get its own logo. 

A) Pune 

B) Bengaluru 

C) Chennai 

D) Delhi 

 

ïªâahÉš jd¡bf‹W á‹d¤ij bg‰w Kjš efu« vJ? 

A) ódh 

B) bg§fqU 

C) br‹id 

D) blšÈ 

 

 

179. In which Article make provision for the appointment of a law officer, the Attorney 

General by President of India? 

A) Article 66      

B) Article 67 

C) Article 76      

D) Article 96 

 

r£l mYty®fŸ k‰W« k¤âa muR jiyik tH¡FiuP®fis vªj ÉâÆ‹ Ñœ ïªâa FoauR 

jiyt® ÃaÄ¡»‹wh®? 

A) Éâ 66      

B) Éâ 67 

C) Éâ 76      

D) Éâ 96 
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180. The Government of India introduced the Right to Education on 

A) 15th August 1947    B) 26th January 1950 

C) 1st April 2010    D) 2nd October 2012 

ïªâa muR fšÉ cÇik¢ r£l¤ij eilKiw¥gL¤âa ehŸ 

A) 15 MfÞ£ 1947    B) 26 #dtÇ 1950 

C) 1 V¥uš 2010     D) 2 m¡nlhg® 2012 

 

181. When was the Legal Service Authority Act (Lok Adalat) passed? 

A) 1985      B) 1987 

C) 1986      D) 1988 

cÇik gÂ¢ r£l« (nyh¡ mjy¤) vªj M©L Ãiwnt‰w¥g£lJ? 

A) 1985      B) 1987 

C) 1986      D) 1988 

 

182. Find out the wrong rules of the national flag. 

A) The national flag should be raised and lowered carefully 

B) We must lower it before sun set 

C) No other flag should be placed higher than it nor should any flag be placed to 

its left 

D) We must stand in attention when the flag is hoisted 

 

njáa bfho g‰¿a jtwhd Éâia f©Lão¡f 

A) njáa¡ bfhoia V‰W« nghJ ïw¡F« nghJ« ftdkhf¢ brašgl nt©L« 

B) NÇa‹ kiwí« K‹ njáa¡ bfhoia ïw¡» Él nt©L« 

C) ntW vªj xU bfhoiaí« ekJ njáa¡ bfhoÆ‹ ïlJ òwnkh mšyJ bfhoia Él 

caukhfnth gw¡fÉl¡ TlhJ 

D) bfhoia f«g¤âš V‰W« nghJ eh« neuhf Ã‰f nt©L« 
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183. Article 41 of the constitution of India guarantees 

A) Right to work 

B) Right to property  

C) Right to live 

D) Right Against Exploitation 

 

ïªâa muáaš r£l Éâ 41 TWtJ 

A) ntiy¡F cÇik 

B) brh¤J¡F cÇik 

C) thœî¡F cÇik 

D) Ru©lY¡F vâuhd cÇik 

 

 

 

184. The article of the Constitution provides for a Vice President 

A) Article 53      

B) Article 356 

C) Article 360      

D) Article 63 

 

FoauR Jiz¤ jiyt® gjÉ g‰¿ vªj muáayik¥ò r£l¥ãÇî TW»wJ? 

A) 53        

B) 356 

C) 360       

D) 63 
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185. Consider the following statement, choose the correct answer from the codes given below. 

Assertion (A) : The motion of the Earth rotate on its axis called rotation 

Reason (R) : Rotation movement causes seasons 

A) (A) alone is correct (R) is incorrect 

B) (A) and (R) are correct and (R) is the correct explanation of (A) 

C) (A) and (R) are incorrect 

D) (A) and (R) are correct but (R) is not the correct explanation of (A) 

 

ÑœfhQ« th¡»a§fis mo¥gilahf bfh©L rÇahd Éilia bfhL¡f¥g£LŸs 

F¿pLfËš ïUªJ nj®î brŒf. 

T‰W (A) : óÄ j‹id¤jhnd R‰¿¡bfhŸtij j‰RH‰á v‹»nwh« 

fhuz« (R) : j‰RH‰á ïa¡f« fhuzkhf¤jh‹ gUtfhy« cUth»wJ. 

A) (A) k£L« rÇ (R) jtW 

B) (A) k‰Wk (R) ïu©L« rÇ nkY« (R), (A) cila rÇahd És¡fkhF« 

C) (A) k‰W« (R) ïu©L« jtW 

D) (A) k‰W« (R) ïu©L« rÇ Mdhš (R), (A) cila rÇahd És¡fkšy 

 

 

186. World Forest Day is celebrated on 

A) March 8     B) March 21 

C) March 22     D) March 23 

 

cyf fhLfŸ âd« bfh©lhl¥gL« ehŸ vJ 

A) kh®¢ 8     B) kh®¢ 21 

C) kh®¢ 22     D) kh®¢ 23 
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187. Entrepreneurship Development Programme (EDP) is associated with 

A) Eradication of illiteracy 

B) To make and prove womens potential 

C) To bring out the talents of women 

D) Eradication of poverty 

bjhÊš Kidî K‹nd‰w¤J¡fhd â£l« (EDP) bjhl®òilaJ 

A) vG¤j¿É‹ikia xÊ¥gj‰fhd â£l« 

B) bg©fË‹ M‰wiy Ã%gz« brŒa cjî« â£l« 

C) bg©fË‹ jÅ¤âwikfis btË¡bfhz®jš 

D) tWikia xÊ¥gj‰fhd â£l« 

 

188. Match the following: 

(a) Assam 1. Podu  

(b) Andhra Pradesh 2. Mashan 

(c) Madhya Pradesh 3. Ponam 

(d) Kerala 4. Jhum 

(a) (b) (c) (d) 

A) 3 1 2 4 

B) 2 3 4 1 

C) 1 2 3 4 

D) 4 3 2 1 

bghU¤Jf: 

(a) mÞ[h« 1. bghL  

(b) Mªâu ãunjr« 2. khr‹ 

(c) k¤âa ãunjr« 3. bgh‹d« 

(d) nfush 4. é« 

(a) (b) (c) (d) 

A) 3 1 2 4 

B) 2 3 4 1 

C) 1 2 3 4 

D) 4 3 2 1 

The correct answer is 4 1 2 3 
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189. In which one describes the social conditions of the Sangam Tamils? 

A) Ettuthogai     B) Pathupattu 

C) Porulathikaram in Tolkappiam D) Silapadhikaram 

vªj x‹W r§f¤ jÄÊ‹ rKjha Ãiyia És¡F»wJ? 

A) v£L¤ bjhif    B) g¤J¥gh£L 

C) bjhšfh¥ãa¤âš cŸs bghUsâfhu« D) áy¥gâfhu« 

 

190. Match List I with List II and select the correct answer using the code given below the 

list: 

List 1            List II 

(a) Amuktamalyada 1. Gulbarga 

(b) Juma Masjid 2. Bijapur 

(c) Golgumbaz 3. Sanskrit 

(d) Jambavathi kalyanam 4. Telugu 

(a) (b) (c) (d) 

A) 1 3 2 4 

B) 3 2 4 1 

C) 4 1 2 3 

D) 2 4 3 1 

tÇir I cl‹ tÇir II Æid¥ bghU¤â tÇirfS¡F Ñœ bfhL¡f¥g£LŸs bjhF¥ãÈUªJ 

rÇahd ÉilÆid nj®î brŒf: 

tÇir I            tÇir II 

(a) MK¡jkhÈajh 1. Fšg®¡fh 

(b) #]«kh kNâ 2. Õ#¥ó® 

(c) nfhšF«gh 3. rkÞ»Uj« 

(d) #h«gtâ fšahz« 4. bjY§F 

(a) (b) (c) (d) 

A) 1 3 2 4 

B) 3 2 4 1 

C) 4 1 2 3 

D) 2 4 3 1 
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191. The rulers of Bhopal Shajehan Begum and Sultans Jehan Begum provided monetary 

support for the preservation of the ancient site 

A) Saranath pillar 

B) Sanchi stupi 

C) Humayun tomb 

D) Shersha’s tomb 

 

nghghš muáah®fshd õh#Ah‹ ngfK«, Ršjhdh b#Ah‹ ngfK« ïªj tuyh‰W á‹d¤ij 

br¥gËl Vuhskhd gz¤ij thÇ tH§»d® 

A) rhueh¤ fšö© 

B) rhŠá Þöã 

C) ckhô‹ fšyiw 

D) bõ®õhÉ‹ ÃidÉl« 

 

192. Farid was the original name of 

A) Shershah 

B) Ibrahim Lodi 

C) Sikandar Lodi 

D) Ala-ud-din 

 

gß¤â‹ c©ikahd bga® 

A) bõ®õh 

B) ï¥uhÏ« nyho 

C) á¡fªj® nyho 

D) myhîÔ‹ 
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193. Find the name of the ruler who gave Pondicherry to French 

A) Fahlul Khan Lodi 

B) Ibrahim Lodi 

C) Sherkhan Lodi 

D) Iltutmish 

òJ¢nrÇia ãbuŠR¡fhu®fS¡F tH§»at® ah®? 

A) gAÿš fh‹ nyho 

B) ï¥uh»« nyho 

C) nõ®fh‹ nyho 

D) ïšJÄZ 

 

194. Shivaji got himself coronated at 

A) Torna     B) Raigarh 

C) Kalyan     D) Purandhar 

áthÍÆ‹ KoN£L ÉHh eilbg‰w nfh£il 

A) njh®dh     B) buŒfh® 

C) fšah©     D) òuªj® 

 

195. The construction of Qutb Minar was started by 

A) Iltutmish 

B) Aram shah 

C) Qutb-ud-din-Aibak 

D) Firoz Shah 

FJ¥Ädh® v‹D« nfhòu f£Lkhd¥ gÂfis¤ bjhl¡» it¤jt® 

A) ïšJÄZ 

B) Mu« õh 

C) F¤òÔ‹ Ibg¡ 

D) ãnuhÞ õh 
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196. New Agricultural Price Policy was announced in the year 

A) 1984      B) 1976 

C) 1996      D) 1986 

 

òâa ntsh© Éiy¡ bfhŸif btËÆl¥g£l M©L 

A) 1984      B) 1976 

C) 1996      D) 1986 

 

197. The birth of economics of education was announced by 

A) Marshall     B) Karl Marx 

C) Schultz     D) Keynes 

 

fšÉ g‰¿a bghUËaiy cUth¡»at® 

A) kh®õš     B) fhuš kh®¡Þ 

C) Þf®£Þ     D) Ñ‹R 

 

198. National Integration Day celebrated in 

A) November-19 

B) October-20 

C) June-10 

D) August-12 

 

njáa xUik¥ghL âd« bfh©lhL« ehŸ vJ? 

A) et«g®-19 

B) m¡nlhg®-20 

C) #]‹-10 

D) MfÞL-12 
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199. Match the following: 

(a) Jawahar Grams Samridhi Yojana 1. 1993 

(b) National Social Assistance Programme 2. 1977 

(c) Employment Assurance Scheme 3. 1995 

(d) Integrated Rural Develoment Programme 4. 1999 

(a) (b) (c) (d) 

A) 3 2 1 4 

B) 4 3 1 2 

C) 4 2 1 3 

D) 3 1 2 4 

bghU¤Jf: 

(a) #tA® »uhk ntiythŒ¥ò¤ â£l« 1. 1993 

(b) eh£L r_f cjÉ¤ â£l« 2. 1977 

(c) ntiythŒ¥ò cWâ¤ â£l« 3. 1995 

(d) »uhk xU§»izªj ts®¢á¤ â£l« 4. 1999 

(a) (b) (c) (d) 

A) 3 2 1 4 

B) 4 3 1 2 

C) 4 2 1 3 

D) 3 1 2 4 

 

200. The founder of scientific socialism 

A) Alfred Marshall    B) Karl Marx 

C) J.A. Schumpeter    D) J.M. Keynes 

m¿Éaš rkj®k¤ij njh‰WÉ¤jt® 

A) Mšãu£ kh®õš    B) fh®š kh®¡Þ 

C) J.A. R«Õ£l®    D) J.M. Ñ‹R 
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